IR SR P A 7 % SRE
| — 1 (O e
2 = | 2OF BRI
3 — 2 ZOu $RAR
4 - 2 RO HRAX
5 — 2 BOZX SRIR
6 — e w0O#H SRAX
i .. 2 20Oz $RIR
8 — 2 210% SRIER
9 — 3 RO SRR
10 — 3 & O%F SRR
11 — 3 wOg SR A
12 — 3 *O% SR
13 — 3 2O IR
14 — 3 20O SRIR
15 — 3 & Ok $RER
16 s 4 ROZ R B
17 — 4 iR O 4 SRIAX
18 s 4 FOK SR B
19 — 4 HFHOR BRI
20 — 4 B O SRR
21 — 4 #HO4# SRR
22 — 4 HO SRR
29 — 4 RO SRAX
24 — 5 0% $RHR
25 — 5 #HO# SR
26 — 5 RO & S A
27 = H wO % HREX
28 — D 2Oy SR
29 - 5 BO% BRI
30 — ) FOE BRI
3l — 6 # O3k BRI
32 e 6 2 Ouf SRAX
33 — 6 RO%E SRER
34 = 6 FOE BRI
35 — 6 HO% $RER
36 — 6 RO bR
37 — 6 HO% SR HR
38 — 6 FO% $RER
39 — 6 #wOR SRIR
40 — i RO BRI
41 — I AO B BRI
42 — 7 RO B SRR
43 — 7 208 $RER
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44 7 F O IR
45 7 2O SR AR
46 7 O SRR
47 7 #wO R SR
48 8 SOR SR AR
49 8 HBO® SR
50 8 #0O4% SR
51 8 HOA BRI
52 8 208 SR
53 8 HOXE SRR
b4 8 FO FRER
55 8 RO SR
56 8 ROE Sk B
57 9 AL SRR
58 9 2O kB
59 9 O SRR
60 9 2O SR
61 9 RO HRIX
62 9 FO% SR
63 9 $H O HRIX
64 10 ZO#R Sk
65 10 %Ok SR
66 10 MOk SR
67 10 RO% SR
68 10 #HOE SR
69 10 20w i
70 10 E2O4R LR
71 10 wOH SR
72 10 & O SR
73 10 2O SR ER
74 10 k0% SRR
75 10 =10kl SR
76 9 %0 28
77 8 Z& QO B ER2
78 4 RO B3
79 4 HOF # B4
80 4 Z20O#% # B0
81 10 2108 i B 6
82 9 %OH BT
83 2 (O3 H B8
84 9 RO% HE9
85 1 HO% #E10




